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MASTER OF ARTS (ECONOMICS) 

Term-End Examination 

December, 2013 

MEC-004 : ECONOMICS OF GROWTH AND 
DEVELOPMENT 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer questions from both the sections as per 

instructions. 

SECTION - A 
Answer any two questions from this section in 
about 500 words each : 	 2x20=40 

1. Bring out the salient features of Harrod model of 
economic growth. Can the Harrod model be 
considered as a model of business cycle ? 

2. Explain the concept of vicious circle of poverty. 
Critically examine the role of big push theory in 
breaking the vicious circle. 

3. What is meant by multi-sector growth models ? 
Explain their role in economic planning. Explain 
in brief the basic structure of a simple multi-sector 
growth model. 

4. Highlight the nature of population problem in 
developing economies. Do you suggest that 
developing economies should pursue a population 
policy ? What should be the major components 
of population policy ? 
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SECTION-B 

Answer any five questions from this section in 
about 250 words each : 	 5x12=60 

5. Explain the major reasons for market failure. 

6. Explain in brief the Marxian theory of economic 
development. 

7. Bring out the major implications (without proof 
or derivation) of solow model of economic 
growth. 

8. What is meant by endogenous growth ? Briefly 
explain one of the theories of endogenous growth. 

9. Highlight the salient features of Ramsey model. 

10. Distinguish economic welfare from economic 
growth. What are the indicators of economic 
welfare ? 

11. Critically examine the Lewis model of economic 
development. 

12. Write short notes on the following : 

(a) Relevance of Harris-Todaro model 

(b) Concept of shaeow price 

MEC-004 	 2 



71.1.711-004 

( 344911:q) 

(-17411 tiffalt 

fqgzzif, 2013 

71.111-004 :TIV-4i f4WiT aitfvnw 

?7777 : 3 Ef/T" 	 37-filWff77 3? : 100 

3-)2-  : 4`21 * 9177ff Tgrii d 	V/ V//1 	/ 

wur - 

ti irrrr 	t 74-4 (7-4w) -wr 3t1( 

500 7T- 1 q") 	: 	 2x20=40 

1.zls t atik. 	Hiso 	q RR-lac-off 
3■31141t WF77 I 4-611 i15 	ch.) cqcR-114 sn 	Hisci 
	t? 

2. . -1-f-A7 -74--q-w 

	

cils;   2zht 
--1-1-q7 

3. a •-•4q #11-41:1t5 	ctql 31-N7m t ? 37f2k fat-4i 

ilf-Trwr 	 vtwur 	Tit-qt 

*se *1 	4i-c411 wr #07 14 aufff 

4. Fact-)11q11Q-1 31.21- r-q-T-21T4 	.114(-ii .M:R:z1T .1;1-  7t-ra.  

-ER 	 3TPT-er T17 14.  f-4- 7171-  

3ittaW-eTT4 ml \11-1 t-kSt1 	I 41 	RI 	31TRuT 	r iii1 ? 

,31-14(sqt 	lataf 13FEW ct.qt 	? 

MEC-004 	 3 	 P.T.O. 



4 IITTT 	ft-tt tift Trvt (31--A.T) 	dT-R cloy{ 

2507.r .) 	: 	 5x12=60 

5. a»it rathodrk -13.L&TR 	r 'k I 

6. 4-1144cl1q1-31-0i-wfawm fTr-4-tff .wrT0-14 -14qui-ff 

7. 3-1TW Tiff-4 •Th- 4-IsiSci 	-131 F-1FP.11 ch) (f 91 

31Truf "Tff 	d\z114 R .WW---A-R 

8. 31"-d7fff #1-r-Z 	aTrcr cF-1 I 7:FI 	? 3-f-d7fff TN-F-4 t 

f-*7:ft 	ftrzt TN-1g 	TTr-71 

9. TI7114 4-rs1 	lauq.  r<ilticii3ff 	 

10. 37f2k chcitur, 3Trf2I-T 	 t ? 31-rf2 

4)(-qpii 

11. cvTT 	33rW fT r 41sci eh) 3-Trd-M-9 -  \1a 

12. 	1i[ d tR TiOti 14 	: 

(a) tft-R dIst 	 

(b)is w1-grd 	4cnc-Hii 

MEC-004 	 4 


	Page 1
	Page 2
	Page 3
	Page 4

